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SUBJECT CODE NO: - Z-1278
FACULTY OF HUMANITIES
B.A. T.Y. (Sem-VI)
Examination March / April - 2023
Home Science — X11 Human Development (Adulthood & Old age)

[Time: 1:30 Hours] [Max. Marks: 30]
Please check whether you have got the right question paper.
N. B 1) All questions are compulsory.
1)gd Uy v 3Maxgs 3R
2) Use pencil for diagram.
2) TP VA=l TR Bl
3) Use black or blue pen only.
3) Wad dlel fhal el UAdma aTaR Hal.

4) Use of any signs attracting attentions is prohibited.

4) PIUIG! Te@YD Gur fbdl ol HR0a Ufdsy 308,

Q1 A) Fill in the blanks (attempt all) 05
1) Often youth is a period of
(self-reliant / dependent / dangerous / manaxable)

2) The age of middle age is
(dangerous / handling / Thinking / seeing)

3) adjustment is a feature of old age.
(Voluntary / verbal / weak / fundamental)

4) Relaxation for the elderly and time is more dangerous than for the young.
(Invaluable / workable / price / empty’s)

5) If the attitude towards the life of the elderly is then things can be
overcome.
(Adjustable / mental / tolerant / bad)

31y o S WR_I. (9d 3fRart)
1) S99 d31 dReUIGRIT g1 Il HIEES 5.
(Wraodl / dogd / HUIBE™D / SHCIRR)

2) ALY Al Bld a7 3.
(‘Ehw / U U / Ira'dNItlI / SYUYIT)

3) AN § gHaRd afnel offg.
(Ufes® / zMfedd / HAGAd / HAifo®)
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4) IGHT RM g de5 g CRUIUETE! Hlbrarde 3iTe.
(3gST / sl / feudr /1 Reerm

5) gl Sidldbe gl e8idhIA YT W IMSAAT JeaR
AT Al Ud.

(THTNRI® / OFRe / 9gTRie / dige)

B) Answer in a sentence (attempt all) 05
1) Adolescence is a period of which stress?
2) What is the transition from early adulthood to mid-adulthood?
3) Old age is a condition caused by which changes?
4) Which employees is paid retirement pay?
5) Who can make better adjustments after retirement?

§) Tl Jreud I fogr (9d sifvam)
1) dREUIGRIT BT HIUAT JUMar] HIoWs 32
2) URMY® UelaRqd A Uierawid RO BN &1?
3) JGIORIT B HIUAT Jeoiges FHUr oMl w1 31182
4)
5)

PO HHARHT JaIHgar ddd feaar Sde?

AR DI ISR FHASH B FADhdld?

A) explain concepts / terms / units / events (any two) 05
(word limitation minimum 60 for each answer)

1) Occupational stress

2) Unwanted signs of adulthood

3) Problems in old age

4) Work and retirement

3) HQUAT / U / °Uch / T WE FRI. (PHIUAe! aH)
(TP I fHAM FecHTIGT &o 3eq)

1) YIRS qUMd

2) JULHUUMET ATB-1T Bl
3) JSIORAIG T
4)

S ST e

B) Answer in short (any two) 05
(word limitation minimum 60 for each answer)

1) What are the nutrients that overcome the development function of Adulthood?

2) Evaluate middle-aged combination

3) Explain the elements of comfort in old age.

4) Explain the factors related to retirement adjustment.
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§) deHEd SR g (@udel  F)
(UAD T fPHR Mg WiET o)
1) qOUMT dBIRIe HAfaR Ald SRR UNG Ucdh HIud
) AHIANTCIIG Ao adidh- .
) JEUBIBNG IS ged I,
) Frgdiear garieE dee gew 9.

Sw N

Q3 Answer in detail (any one) 10
(word limitation minimum 200 for each answer)
1) Explain that marital and professional adjustment in adolescence is a process with
many difficulties?
2) Discuss the dangers of personal and social adjustment in old age

JfaeR S o581 (@ivdg! Th)
1) AREUIEaRAG ddlied 3o Sade garEe & fafdy sre=ofiht
gad SN Ufohar g W Hl.
2) JGARGE AfaTd ST SIS TR  diedrdl @<l @xl.
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